F k234 EE RERRERRE S5

L FEEKRIK
G| FTRUEEEBERERBSH 4T EERE
mREA| BE S FEA g | SIEEME| REMS2) TOMEH) _parms| TEURE) pumra
TRH  |REmRE ERRERR—NEEE |8 53,506 53,506 53,506
TRH  |RmEmRE BARAESEORE |8 4,467 4,467 4,467
wED  |(EEE | BREOBEEER |8 7,034 7,034 7,034
BES  |mEE |1 BREOBNESEE  |€ 7,866 7,866 7,866
BES  |mEE |1 B EHR & 6,938 6,938 6,938
TRE  |GRERRE SRMRRRESRER g 408 408 408
TRE  |[REERR|2 —RREREREGHR € | 1720,156| 336465| 7,053915| 602498| 722,034 | 9,722,034
TRE  |RERRE| 2 ERERRASRELN g 543457| 200745| 543457 | 744,202
TRE  |[REERR|2 —REERERER & | 25959|  4006| 78544| 37.444| 145953 | 145953
TRE  |[REERR|2 ERMRRESHAR |8 6,586| 2433 6,586 9,019
TRE  |[REERR|2 BEZITRY & 37,113 - 37,113
TRE  |[REERR|2 —REERESEAER & | 191671 20579 579932 276476| 1077.658 | 1,077,658
TRE  |RERRE| 2 SRERRASRARE g 70486 26037 70,486 96,523
TRE  |RERRE 2 L RERIRATAS g 258 40 780 372 1,450 1,450
TRE  |RERRE 2 TRIEpesEnns e 212 78 212 290
TRE  |[REERR|2 —BHRREBREE |8 18 3 54 25 100 100
TRE  |[REERR|2 ERMRRESERER |8 58 22 58 80
TRE  |[REERR|2 MEER—ES & 4,740 63200  31600] 67,940 99,540
TRH  |[RERRE| 2 HERR-REXLED g 50 - 50
TRE  |[REERR|2 an & 19,350 - 19,350
TRH  |[REERR| 3 HUBHEXES @ | 814925 129678| 96467| 1325601 2366671 | 2,366,671
hRE  |REERE| S EURRANREEL g 259 : 259
TR |REERR| 4 BB EGE S & 1,739 306 3,071 2,045 5,116
hRE  |REERE| 4 AYRRENREERL g 254 : 254




TH B FEFEEBR®RERRK R G
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&
mREA| BE S FEE | SIEEE| REMB2) TOMEH) _pams| TEHRE) pumra
TRE  |[REERE| S EARRERENMSE |€ 1 - i
TRE  |REERE| S EARREBRNMSE |8 126 - 126
TRE  |[REERE|6 BT S @& | 326417 57347 527526 383764 | 911,200
TRE | RERRE| 7 SEERSIRERAL 1 | o1183] 01,183 182,368| 182,366 | 364,734
TRE | RERRE| 7 PRMBARRELER e 1,389,492 - | 1,389,492
TRH  |REmRE| ZOMEAELIMLE € 9 - 9
TRE  |[REERE|s HERDELR g | 17287| 17,287 30997| 34574 74,571
TRE  |[REERE|s HERRESEEE (B 1475 1475 1919 2,950 4,869
TRH  |[REERE|s RRELE @ 4,792 - 4,792
TRE  |[REERR| 9 EEHTS @ 1 - 1
BBH  REE (0| |1 |[JERRREREREN g 20,100 -| 20,100
BER B |0 ABRRRESERIE g 2,100 - 2,100
HRE  |[REERE[0 mEs @ 1 = 1
HRE  |[REERE[0 e @ 1 = 1
TRE | REERE| B @ 30,000 - 30,000




